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HrE—TH 1&#2 SEHFHET 240%& i1
hE—TH 1&th2 SEHFHRET 2401
HE—TH 1&#3 SEHFHET 240%&ih4
HE—TH 187 SEHRFHRET 237%&ih6
HE—TH 1&th12 SEHFRET 231%ih
HE—TH 3% 3 SEHRFHRET 225%i
HE—TH 3% 5 FEHRFERET 226%&ih1
HE—TH 6% 6 SEHFHRET 156%H1
HMEZTH 1831 SEHRFHRET 112%H#2
HE=TH 1&iha SEHFRET 11685
HMEZTH 1&H#h5 SEHRFHRET 116%H#1
HE=TH 2%th13 SEHFRET 120%
bhEZTH 4%EH6 IEHFEET 11&H#4
HMNEZTH 478 FHFRET 131%ih
HEZTH 5% i1 SEHFHRET 96 i
HMNEZTH 5&ih5 FHFRET 96&ih
HEZTH 7E& 1 SEHFHRET 124%ih
HMNEZTH oFih FHFRET 106%&it
HEZTH 1081 SEHFHRET 83%Fith1
HMNEZTH 10%&H#2 FHFRET 83&ih1
bhEZTH 11&H2 IEHFHET 95%& 2
HHE=ZTH 11E#3 IEAFRET 70&ih2
bhEZTH 11&#10 IEHFHET 74%H1
HMNEZTH 1251 MHFRET 93%&ih1
bhEZTH 13&F 2 SEHFFEET 1811
HHE=ZTH 13F 5 SEAFEET 142%1
HEZTH 13% 11 SEHAFHEET 1811
HHE=ZTH 13&th11 SEHFIEET 181&H1
HMNE=TH 2% SEEFHRET 190%ith
HHE=TH 6&M5 SEHRFHRET 138%ih
HE=TH 8%&ih11 SEHFEET 191%#
bhIE=TH 11&EH2 SEHFEET 237%it
bhE=TH 12%FH#2 SEHFEET 197%&H1
bhIE=TH 12%FH4 SEHFEET 196% 1
bhIE=TH 12%FH7 SEHFEET 196% 1
HHE=TH 12%&#h9 SEHFIEET 19581
bhIE=TH 12%F#9 SEHFEET 195% 1
HHE=TH 12%&h9 SEHFIEET 19581
HHE=TH 12&#h15 SEHFIEET 226%i:
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